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COMPUTER APPLICATION (COMMERCE)

Maximum : 60 Scores
Time : 2 Hours

Cool off time : 15 Minutes

//Gnn,eral Instructions to Candidates : \
® There ;s a 'Cool off time' of 15 minutes in addition to the writing time
of 2 hrs.

®  You are neither allowed to write vour answers nor to discuss anything
with others during the 'cool off time'.

& 1lze the ‘conl off time' to get familiar with questions-and to plan your
nawers

® R-od the questions carefully before answering.
All questions are compuleory and only internal choice/is allowed.

®  When vou select a question, all the sub-questions must be answered from
the same question itself.

® (Calculations, {fizures and graphs should be shown in the answer sheet itself.

® Malavalam version of the questions 1s'also provided.

® (Give equations wherever necessary.

® [llecironic devices except nonprogrammable calculators are not allowed
in the Kxamination Hall.
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1. Which ane of the {cilowing 1s

§m

o ~ T oA
Yo l,s{ Toe

I S B
COnaidered as {

ay Central Processing Unit

by Control Unit

otie oaoie 1T
eIl LGEIC Unit

4} Momtor

2. Which cne of the 1oowir

o]
{1
S

.
8

address of next

register helds

inStruction vo ne exscuted by the

processor’

a) Accumulator

c; Memorv Address Register

d) Program Counter (PC)
g

L) Ucetecting and correcting

CYrars

cy Preparstion  of  system
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a-@remlafidiaon) e agaiomwosm?
a) Central Pracessing Unit

&} Control Unit

¢) Arithmetic Logic Unit

d) Monitor

aues sadewldsaym age CPU

register-@d  @uen processor

SO0 ® 0 W} 60IBQI6M

il el oo address

eyl ] cileejomad

a) Accamulator

b) Instruction Register (IR)

¢) Memory Address Register
d) Program Counter (PC)
ancies e demlale ol

GO0 GALOEYENCMPaY-6% @OUo

Bogoomat oy ?

a) Source code @ aficurememd

ST easlol
b) empe? eeemsot dloen;mae
¢) Systernn manual @gonseO®

d) User manual ogoooeadd
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4. Which one of the following 1s
NOT a character constant in

C++?

5. Given thatx =5 and v = 5. What
be the of the

. YLy ~, [ .9
expression x >y || y > x:

will value

6. Which
NOT

one of the following 1s

o

a valid C++ statement?

x + 10;

]

a) x

b) x + =

1G;

4+

¢) x + 10 = x;

10 + x;

d) x

7.  Write output of the following
C++ program.
#include<iostrean>
using namespace std;
int main ()

{

int a, b, c;

a=>b=1;

c = 2;

if  (a+b>c)
cout <<"\n RED";

(a+b<c)

"\n GREEN";

else if
cout <<
else

cout <<"\n BLUE";
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(1)
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26 3 Goib@midiesymaaiat C++
eer cl wracter constant ewgoema’
@ ?

Y '

a) ‘e’

b) a

c) ¢

d)y Vs (1)
X = 5 oagmmio ¥y = 5 agimic
@G oNE. 23IUOS 61605 OBl
Q)T (e @ e ag(mowialee.
x>y il y>x (1)

2306 : audEmidiaeimaiTh ol
@wgoc 5 O+ emyaeadd aqnm?

a) x = x -+ /10;
b)) %
G) k¢

dY x - 10 + x;

(D

213006 5 OBOSIEDIRlHO T+t
progr :m ey cutput af)Pimis.

#incl de<iostream>
usin¢ namespace std;

int n=in ()

if {at+b>c)
cc .t <<"\n RED";
i1f la+b<c)

ccat <<'\n GREEN";

ce ol <<"\n BLUE";

} (1)
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8. In communication svstem the

term. source refers to ...

a) recelver

b) sender
¢) information

d)

medium

©

If 5!} devices are connected to a
central hub/switch, the topologvy
18 known as ...

a) ring topology
b)

c)
d)

bue tepolooy
star topology

mesh topologvy

10. Which one of the following is
NOT a web browser?

a) Mozilla Firefox

b) Goagle

¢) Internet FExplorer

d) Opera

11. Which one of the following
stlatemont 15 NOT true about
e-mail?

a) E-maill 1= environment
friendly as it do not 'use

paper.
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a) ring fonoioov

h) bBuviouaiogy

star tonnlogy

mesh tannlacy
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¢) Internet Fynlorer
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h) Tonasdl peovides wrovision o

- It P 1
DD RONG, Voo ang

nnt sproad

nd of virios.

d) Fomail ean be used to send

same maesiace Lo manvy

recepient: simultaneously.

Which ane of the Mligwine is

NOT an e-butine: o webare?

2) WwWw. smazon.com
b)Y werv dheolrorala oov.in
o) www kevalarte. com

d) W arte . com

Convert  the  hevadecimal

13.

(AZD) . into 1te netal equivalent

[y
(N
.

Tiet e-waste disposal method.

Lden=if and  cinssify  the

ditfforent tokens in the followine

Cst statemente,

agoe = 18-
171 5y
x,\,ﬁ-(w

(1)

BN

(

2

o

L
]

o
o

S
»

b) Text, audio, video. graphics
oIl Sicoldemen;mo

mea o lusome en-enfielapsns.

[==4
¢) o-eonwlaleyns WoOMmOQ)
@OETINRZISE OOl
alsdrmy ol Seomolg).
D-eawiaflenns ase memne 8en
oo amleiulmo
mfl @D 29 065 BOW 600
OO, (1)
Llales caldamlalen ool
e-business eoenl snmg @egoom®
ap@?

a) www.anmazon.com

b) www.dhsekerala.gov.in
¢) www keralartc.com
d)

WWW.1rtc.com (1)

(A2D) , agen  hexadecimal

Molye®  ®Emeeow  octal

Mo WOHT B0Qd. (2)
e-waste  midmodermonings

DORBNEBRB ag) ). (2)

2JQU0S  AdEos o intaoym  C++
(IIT@OQUMOINE  GSOBOEMIHANE
adigclens aetl agemo) @@
QOLISOOOEMMYT 0PI,

age = 18; (2)
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16.

17.

pad
@

19.

What 1s the difference between

x=5and x==5 111 C++?
OR

Write value returned by

following C++ expressions.

a} 60 % 25
¥ s
by 2247

Write output of the following

C++ prograim,

LSINC namesvace st

int main ()

C++

Rewrite the following
statement using if ... else.
coutl <<

(n%2==0?"EVEN": "ODD") ;

List any four advantages of

forming computer networkss.
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16.
(2)

18.

(2)

19.
(2)
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a) 60 % 25

by 22/ 7

using namespace std;

int main ()

oLt << Tz = <<zZ--
CLLT << a2 = <<--&;
ayaies  easdawldlenym O+
statement, if ... else pateouils

alHAOT] ag)PI®bs.
cout <<

(N%2==0?"EVEN": "(OT
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2( Data processing refers to the

21.

22,

activities performed on data to
generate information. List the

stages of data processing.

Draw any six flow chart symbaols
and specify their standardized

meaning,

Write an algorithm to print first

160 natural numbers.

OR

Explain the different types of

errors that may occur in a

program..

Explain logical operators in C++.

Comments in a program are
ignored by the. compiler. Then
why  should we include
comments? Write the methads
of writing comments in a C++

program.
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wnegjeslad

80} program- uoenlies, 24FEDOLN

aflall @ao EDRIH QB0 o)
SHLTEIP=GIFTNCN
C++ oo logical operator

LoZee ] allndledsns,.

Program-ea comment BN

compiler @ CLID 6T i B9 ) WD 6
21N, aHMivioesn comment
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agm? ey C++ program-@
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25. Detine the following terms, 25, Ao gyeennionaon” SIS

related to computer network. 2iaies aoibemoles; - laemd

SREDIEI

a) Node ofag,
b) Bandwidth a) Node
c) Noise (2) b) Bandwidth

¢) Noise N

26. List had effects if any 1n nsing 26. Social modia gooomnit o0
sncial media. () Jatotentast IR RO e DI
£5ersnlad mant ariomid. (2}

27. Define e-Governance. Write anv 27. e-Governance Yntoler lens)

coeeelage

four adventages of e-Governance. (3)

28, What do you mean by utiity I8, Culity software ogm® ed06ne

software? List any four tvpes of aflenseh a@omoem @Amuaoecima’?

utility scftware with their use.  (5) oq@mEico (ol Liility soitware
e i
ERCEETattss (5)

29. Explain the clements of a loop 29, @emewom)eOw HEICEEMe (Vabito
statement  with  suitable any loop statement-ocd elements

example. (%) QflEle:tles®:. (3)

OR anegmlad

S alEDTY Mo

Write a C++ program to print apayeom 10 oo

first 10 even natural numbers. (O (c Dosopeneimias €3 C++

(5)
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